Density

Density

0.004 0.008 0.012

0.000

1.0e-06

0.0e+00

line = MAGIC.446 ,Chr=3

I I
13616950 13617050

N =5 Bandwidth =17.45
breakpoint: 7109311 - 7109348 po-0 wu-0

line = MAGIC.446 ,Chr=5

I I I I I I
-500000 O 500000 1500000

N =4 Bandwidth = 1.93e+05
breakpoint: 14082893 - 14082905 tsu-0 hi-0

Frequency

Frequency

1.5 20

1.0

0
o

Q
o

line = MAGIC.446 ,Chr=3

13616960 13616990 13617020

3.0

2.0

1.0

0.0

breakpoint: 7109311 — 7109348 po—0 wu-0

line = MAGIC.446 ,Chr=5

[ I I
0 500000 1500000

breakpoint: 14082893 — 14082905 tsu-0 hi-0



